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1 Take an umbrella, in case it -------- :

A) willrain ¢+ B) wouldrain (C) may rain D) rains
2. She shouted as ------ as she could.

A) loud B) loudly C) louder D) loudest
3. The Authorities had chosen a suitable -----for the Bus Station.

A) sight B) cite C) site D) cigst
4. We went to ------ last week to speak to our son’s teacher.

A) school B) their schoo]

C) the school D) her school
- I don’t remember --------- the electricity bill.

A) to pay B) paying C) paying of D) paying in
6. Let’s go------- next week.

A) for fishing B) to fish C) fishing D) of fishing

Pick out the correctly spelt word in Qns. 07 toll:
7. A) Bouquet B) Bokuea C) Boquoet D) Bouquea
8. A) Millenniam B) Millennium C) Milenniam D) Mileniam
9. A) Amatuer B) Amature C) Ameture D) Amateur
10. A) " Kammittee B) Commitee O) Committee D) Committey
1. A) Affedevit B) Afidevite C) Affidevite D) Affidavit
12. ‘feather in one’s cap’ means:

A)  dignified appearance B) attractive behaviour

C)  atriumph to one’s credit D) weighing light
13. ‘In fits and starts’ means:

A)  Irregularly B) Hard working

C)  Consistently D) Enthusiastically
14. ‘Forensic audit’ refers to examination of*

A)  adead person’s financial records

B)  amurdered person’s financial records

C)  the forensic department’s financial records
D)  the financial records of any individual or firm



13

16.

17.

18.

.

20.

21.

22

23

Let’s go to the beach, ------ ? (Add a suitable question tag)
A) can we B) won’t we C) shall us D) shall we

She spoke English. (Convert into a question)
A) Did she spoke English? B) Did she speak English?
C) Does she speak English? D) Does she spoke English?

mr madhavan my uncle is a lawyer (Use punctuation marks and capital letters where
necessary)

A)  ,Mr madhavan, my uncle is a lawyer.
B) Mr Madhavan my uncle, is a lawyer.
C) Mr.Madhavan my uncle is a lawyer.
D) Mr.Madhavan, my uncle, is a lawyer.

Al

Choose the correct statement:

A) My, uncle who lives in Mumbai is a doctor. -
B) My uncle, who lives in Mumbai, is a doctor.
C) My uncle, who lives in Mumbai is a doctor.
D) My uncle who lives in Mumbai, is a doctor.

“The mother said to her daughter: When will you come back’? can be reported as:
A)  The mother told her daughter when she would come back.

B)  The mother asks her daughter when would she come back.

C)  The mother asked her daughter when she would come back.

D)  The mother asked her daughter when will she come back.

The school is located at a stone’s throw from the bus stop. The words underlined mean:
A) a convenient place B) an inconvenient place
C) very near D) very far

Identify the correct sentence.

A) | know that you would pass.

B) [ have known that you would pass.
C) [ will know that you would pass.
D) I knew that you would pass.

The plural version of ‘magnum opus’ is:
A) magna opuses B) magnum opera
&) magnames opus D) magna opera

‘Perjury’ refers to:
A) trial by a group of one’s peers
B) trial by a bench of judges
C) testifying under oath
D) false testimony under oath

I~
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25.

26.

27.

28.

29.

30.
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32.

33

34,
35.

36.

‘Mariticide’ refers to the killing of:

A) Husband B) Mother C) Mariner D) Uncle
‘Pagination’ refers to:

A) making of pageant B) page-numbers in a publication

C) display in a pager D) tear pages from a note book

']
The basis of Political Democracy in India:
A) Federalism B) = Fundamental Rights
©) Parliamentary System D) Panchayati Raj

Name of the autobiography of Leila Seth, the first woman Chief Justice of a state High

Court in India:
A) From the Trenches B) On Balance
O) Neither Roses nor Thorns D) Justice at heart

The first country in the world to give all women the right to*vote:
A) England B) Greece
C) New Zealand D) France

The first Indian writer to win the International Booker Prize:
A) Kiran Desai B) Arundhathi Roy
C) Geetanjali Shree D) Salman Rushdie

The only Indian to be selected as ‘Person of the Year” by Time Magazine:

A) Indira Gandhi B) Mahatma Gandhi
) Narendra Modi D) Jawaharlal Nehru
The journal “Young India” was started by:

A) B. R. Ambedkar B) Jawaharlal Nehru
C) M.N. Roy D) M. K. Gandhi
The winner of 2021 Ballon d’Or award:

A) Lionel Messi B) Cristiano Ronaldo
C) Franck Ribery D) Neymar

Which of the following is not a computer virus/worm?

A) Trojan horse B) Melissa ) Sasser
World Environmental Day is celebrated on:

A) May 8 B) June 4 C) June 5
Currency of U K:

A) Mark . B) Euro C) Pound

Brass is an alloy of copper and -------- :
A) Zinc B) Manganese C) Chromium

[€%]

D)

D)

D)

D)

Kaspersky

July 11

Dollar

Tin
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37.

38.

39.

40.

41.

42.

43.

45.

46.

47.

48.

Headquarters of SAARC:

A) Jakarta B) Singapore ) Dhaka D) Kathmandu
The source of origin of Human Rights is:
A) Moral Rights B) Natural Rights
C) Cultural Rights D) Customary Rights
; .
Unit of Resistance:
A) Faraday B) Newton C) Ohm D) Watt
First N/[alayalee to become Deputy Chairman of Rajyasabha:
A) C.M. Steaphen B) A.C. Jose
C) M.M. Jacob D) P.J. Kurien

The scientific study of insects:
A) Ornithology B) Bacteriology C) Embryology D) Entomology

Tennis player honoured in Switzerland by issuing a silver coin bearing his face and name:

A) Rafal Nadal B) Roger Federer

0) Novak Djokovic D) Andy Murray

A book not authored by Chattampi Swamikal:

A) Pracheena Malayalam B) Jeeva Karunya Nirupanam
0) Advaita Deepika D) Advaita Chinta Paddhati

Find out the one which is not intended by New Economic Reforms in India:
A) Liberalisation of the Economy

B) Simplifying Regulations

) Minimising Economic Disparity

D) Opening up the Economy to Competition

The first Chairperson of Kerala Women’s Commission:
A) D. Sreedevi B) M. C. Josephine
C) M Kamalam D) Sugathakumari

Who among the following retains the record of five wins of the National Film Award
for Best Actress in India?

A) Smita Patel B) Sharada
C) Shabana Azmi D) Kangana Ranaut
Capital of Ukraine:

A) Kyiv B) Kharkiv C) Chernobyl D) Mariupol
Who among the following is referred to as the father of India’s Missile Programme?

A) Srinivasa Ramanujan B) A.P.J.Abdul Kalam
C) Raja Ramanna D) Vikram Sarabhai
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49,

50.

31.

S2.

53.

54,

55.

56.

57.

58.

2

Collective Rights belongs to the Human Rights of:

A) First Generation B) Second Generation |
C) Third Generation D) None of the above |
“Western Ghats™ is also known as: ' |
A) Sahyadri B) Himadri

C) Aravalli ’ D) Blue mountain

The first e-court in India was opened at the High Court of:

A) Hyderabad B) Delhi ) Mumbai D) Bangalore

The Selection Committee that select Lokpal‘in India consists of:

1. The President 2. The Prime Minister

3 Speaker of Lok Sabha 4. Chairman of Rajya Sabha

- Leader of Opposition in Lok Sabha 6. Chief Justice of India

A)  1,2,3&4only B) 2,3,5&6only

(&) 2,5 & 6only D) 1,2,4 & 6 only

The President of India when National Emergency was proclaimed for the first time in
India:

A) Dr. Rajendra Prasad B) Dr. Zakir Hussain |
C) Dr. Radhakrishnan D) Fakruddin Ali Ahmed ' |

The Article of the Indian Constitution which provides the power to the president to
promulgate ordinances:

A) Article 123  B) Article 221 Q) Article 223 D) Article 183

In the Constitution of India the subjects for legislation have been divided into ----- lists.
A) 2 B) 3 C) 4 D) 8

In India the Right to Property is a:
A) Constitutional Right B) Fundamental Right
C) Intellectual Property Right D) Moral Right

Who among the following was the secretary to the Constituent Assembly of India?
A) S N Mukherjee B) H VR Iyengar
C) B N Rau D) Prem Behari

The total membership of the Constituent Assembly of India was:.

A) 379 B) 389 C) 539 D) 178
: |
The first transgender Judge of India:
A) Prithika Yashin B) Swati Bidhan Baruah
0) Rituparna Pradhan D) Joyita Mondal

(9
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61.

62.

63.

64.

65.

66.

67.

68.

69.

The Section of the Indian Information Technology Amendment Act 2008 dealing with
cyber terrorism in India:

A) 67 A B) 66 F 0) 65 D) 67B
The High Court with the largest number of benches in India:

A) Delhi High Court B) Calcutta High Court

C) Guwabhati High €ourt D) Allahabad High Court

The International Court of Justice was established in:

A)  January 1946 B) July 1947

) June 1945 D) September 1945

Alibi means:

A) Friend of the court B) By the very fact itself

C) Equity follows the law D) At another place

Uberrimae Fidei means:
A) The things speak for itself B) In utmost good faith
C) As much as deserved D) Reason for deciding the judgment

Which among the following are the basic structures of the Indian Constitution?

1 Secularism 2. Fundamental rights

3. Federal structure 4. Parliamentary supremacy
A) 1 and 2 only B) 1.2 and 3 only

C) 2, 3 and 4 only D) 1,2,3and 4

Sixth Schedule of the Constitution of India makes provisions for the administration of
tribal areas of:

A) Assam, Meghalaya, Tripura, Mizoram

B) Assam, Manipur, Tripura, Meghalaya

C) Assam, Tripura, Arunachal Pradesh, Manipur

D) Assam, Nagaland, Meghalaya, Manipur

The Article of Indian Constitution which empower the president to declare national
emergency:

A) 352 B) 174 ) 356 D) 372

The Sexual Harassment of Women at Workplace (Prevention Prohibition and
Redressal) Act came into force in the year:

A) 2012 * . B) 2013 ) 2000 D) 2015

The normal time limit for furnishing information under the ‘Right to Information Act
2005° is:
A) 45 days B) 30 days O) 14 days D) 7 days

h
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70.

71.

72,

73,

74.

75

76.

78.

79.

80.

81.

The Amendment to the Constitution of India which incorporated Article 21A:

A)  42™ Amendment Act B) 44" Amendment Act

C) 86" Amendment Act D) 84 Amendment Act

The idea of “Residual Powers™ in Indian Constitution is adopted from ------ Constitution.
A) Canadian " B) Soviet O) Irish D) French

The Part of Indian Constitution dealing with Citizenship:
A)+  Part1Il B) Part | C) Part I D) Part IV

The article which speaks about the advisory jurisdiction of the Supreme Court of India?

A) 143 B) 32 C) 123 D) 226
Which of the following is not a Constitutional Writ? -

A) Certiorari B) Plebiscite

C) Mandamus D) Habeas Corpus

The Constitutional Case which raised the question of Basic Structure of Indian
Constitution;

A) Golak Nath Case B) A. K Gopalan Vs State of Madras Case
) Minerwa Mills Case D) Kesavananda Bharathi Case
What least number must be added to 2022 to get a number exactly divisible by19?
A) 7 B) 9 C) 11 D) 6
x _::l_ 4x+3y .
If . then -r is:
- A) 5 B) 3 Q) 4 D) 7

A certain amount was divided between ‘P* and "Q’ in the ratio 5 : 7. If Q’s share was
Rs. 8000 more than P, the amount is Rs:

A) 48000 B) 24000 C) 36000 D) 28000

A cube painted yellow on all faces is cut into 125 cubes of equal size. How many cubes
are painted on one face only?

A) 90 B) 54 C) 72 D) 36

If ‘@’ means +, ‘b’ means — ‘c’ means x and ‘d’ means ~ , calculate the value of the
expression 6a5bh2c9d3

A) 6 s i B) 11 C) 5 D) 1
The speed of three cars are in the ratio 2 : 3 : 5. The ratio between time taken by them to

travel the same distance is:
A) 15:9:8 B) 10:: 746 C) e A2 D) 15:10: 6
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83.

84.

85.

86.

87.

88.

89.

91.

Showing the woman in the park, Vrinda said, “She is the daughter of my grandfather’s
only son.” How is Vrinda related to that woman?
A) Sister B) Mother C) Cousin D) Aunt

What is the next term in the following series?
1,4,3,9,5,16, 7, 25,9 36, 11, ?

A) 55 B) 64 C) 49 D) 48

Which term will be the first negative term of the following series?
45, 40, 35, 30,. .. ...

Al

A) 11™term B) 12"™term C) 13"term D)  10™term

Complete the series:
AZ,FU,KP, ?, UF -

A) LS B) D C) FU D) PK

Which of the following eannot be a number of the series .... 27, 64, 125, 216, 343,...

A) 999 B) 8 C) 512 D) 729

A person has 4 coins each of different denominations. What is the number of dlﬁ'erent sums
of money the person can form ( using one or more coins at a time)?

A) 11 B) 15 C) 16 D) 12

In a division, a student took 72 as divisor instead of 27. His answer was 30. The correct
answer is:

A) 32 B) 45 C) 60 D) 80

In how many ways can four children P, Q, R, S be made to stand in a line such that two of
them P and Q are always together?

A) 12 B) 18 C) 24 D) 6

A person travelled a distance of 60 km in 10 hours. He covered a part of the distance on foot
at the rate of 3 km per hour and a part on a bicycle at the rate 8 km per hour. How much
distance did he travel on bicycle?

A) 32 km B) 40 km C) 48 km D) 36 km

Six books, By, B,, Bs, By, Bs and By are placed side by side. B,, B; and Bs have blue
cover and the other books have red cover. Only B, and B are new books and the rest are

old. By, B; and B, are law reports and other are gazetteers. What book is a new law report
with a red cover?

A) ' By B) B, C) B D) B
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93.

94.

9s.

97.

98.

99,

100.

In the series:
A AB ABC ABCD ABCDE .........
Which letter occupies the 111" position?

" B) J ¢ ¥ D) °H

L)
If all the numbers from 401 to 600 are written, what is the total number of times that the digit
6 appears?
A) 99 B) 38 ) 41 D) 98
At the birthday party of a kid, 50 persons chose to kiss him and 35 persons chose to shake
hands with him. 15 persons chose to both kiss and shake hands with him. How many
persons turned out at the party?
A) 70 B) 100 C) 85 D) 55

sl 3 2 I : 3
In an examination, a student was asked to find e of a certain number. By mistake, he found -
of it. His answer was 24 more than the correct number. The given number is:

A) 144 B) 154 C) 124 D) 134

If the average of three numbers x, y and z is 60, then the average of x, y, z and 60 is:
A) 120 B) 30

C) 60 D) Data insufficient

A shopkeeper increased the price of a product by 40% and later on he reduce the price by
30%. Find the profit or loss percentage?

A) 2% gain B) 2% loss C) 10% gain D) 5% loss

A person travels 10 km due North, then 12 km due East. after that 12 km due West and then
15 km due South. How far is he from the starting point?

A) 5 km B) 7 km C) 22 km D) 12 km

How many capital letters of the English alphabet appear same when looked at in a mirror?
A) 12 B) 9 <) 11 D) 10

Today is Monday. After 102 days it will be:
A) Thursday B) Monday C) Saturday D) Friday
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